V.DATA ANALYSIS - PART1

Ax
1. Calculate the initial and final velocities of the cart, 77 = T and
: 1
v = e Record your results in' Table 6.1.
2

il

2. Calculate the rebound coefficient 7 = -|-5—l
' 1

. Record your results in

Table 6.1.
Table 6.1
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3. Answer the following:

e If =1 this means that
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VII. DATA ANALYSIS - PART2

1' C— .
Calculate the initial and final velocities of the two carts (initial

velocity of cart 2 is zero) and record the results in Table 6.2.

Table 6.2
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In the following,

- pi, K; are the initial momentum and kinetic energy of cart i (i=1,2).

- p}, K! are the final momentum and kinetic energy of cart 1.

- prt=prtpzand K =K1 + Kz are the total initial momentum and kinetic

energy.

[4
= Ptot

kinetic energy.
2. Calculate the following and record the results in Table 6.3.

* pypy pi,and p

* Pt and p;fat‘

= p! +p, and K}, = K; +K; are the total final momentum and

3. Calculate the following and record the results in Table 6.4.

o Kj, Ky, K'y,and K;
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4. Within experimental error, was linear momentum conserved in each

of the four collisions?
Hint: Use the last column in Table 6.3.

|
(
E

A R



IX. DATA ANALYSIS - PART 3

the initial and final velocities,

pand V' respectively, and

1. Calculate
record the results in Table 6.5.

In the following:

- p and K are the initial momentum and

Kinetic energy of cart 1. Since

cart 2 is initially at rest they are equal to the total initial momentum

and kinetic energy of the system.

- p'and K' are the final momentum and kinetic energy of the system
composed of cart 1and cart 2 stuck together.
2. Calculate p and K and record the results in Table 6.5.

3. Calculate p' and K' and record the results in Table 6.6.

Table 6.5
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Hint: Use the last column in Table 6.5.
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5. For each of the four collisions, was kinetic energy conserved (i.e. was

the collision glastic) within eXperimental error? Justify your answer.

Hint: Use the last column in Table 6.6.
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6. State and discuss three sOUICES of error in this experiment.
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